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CSV file format

o CSV = comma separated values

e File format specifications:
oIERCEICOIN “,” TXYIBNIET—4
o 11TH—FEHDT—AT. eITTITZ 57!

e Example:
name, age, weight, height
Bob, 40, 80, 175
Taro, 35, 65, 170
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name, age, weight, height

Bob, 40, 80, 175

Taro, 35, 65, 170
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i pandas
import pandas as pd

data = pd.read_csvidata_dir+ some.csv™)

#rEiTERL

print (data.iloc[0])
print (data. iloc[0:2])
#rEidER L

print (data.iloc[:,0])
print (data. iloc[:,0:8])

print (data.columns)

#t HH*EELTRS
print (data.nane)
print (data.height )

# BEFEEL TIHENTERS
print (data. iloc[0].weight)
print (data.weizht [11)

for i in range(data.shape[0]):
print (data.iloc[il)
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» @ sample_data i

g = pd.Beries(["Jiro’,30,75,180]1, index=dat

data = data.append(s,iznore_index=Trua)

i ETERSIE FIEE L TABND
datal’BMI’] = [20, 30, 25]
print (data)

# 97, PIEIEEL TiRSE
data.iloc[0,4] = 40
print (data)

i SHEET — SOEAIAM

#f pandas

import pandas as pd

data = pd.read_csv(data_dir+
#tENTERS

print {data.iloc[0])

print fdata. iloc[0:2]1)
#mrEnsERL

print (data.iloc[:,0])

print {data.iloc[:,0:3])

print (dat a.calunns)

t BEEREELTRE

print (dat a.name)
print (data.heizht )

# BEEFEEL TIFELITER
print idata.iloc[0].weight)
print (data.weizght [11)

for i in range(data.shape[0]
print (data.iloc[i])

ft f77&38h0

s = pd.Beries{["Jiro®,30,75,

data = data.append(s,ignare_
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Iyl |E EER BA AL WL ANLT L EoUIey B - EEEES = $4%
N o FFLAh ais.csv 2019/05/1019:33  Microsoft Excel CS. 15 KB L
+ d— I\ + quz I\ = EgFe boston_house.csv 2019/05/10 1933 Microsoft Excel C5... 62 KB
1 - Rz data.csv 2019/05/1019:33  Microsoft Excel CS.. 12 KB
. B [12] b sy height_weight.csv 2019/05/101%33  Microsaft Excel CS... 4KB
Bix d— IJrril X 2 S OB R € height weight small.csv 2019/05/101933  Microsoft Excel CS.. 1KB
i
I \‘ E" 3 O-b #4277 (C height_weight_small2.csv 2019/05/10 19:33 Microsoft Excel CS... 1KB
+ FwIFO-F J g b o 4 - - height_weight_small3.csv 2019/05/1019:33  Microsoft Excel CS.. 1KB
4 H DVDRW F547 ins.csv 2019/05/10 19:33 Microsoft Excel CS... SKB
- 2 = HD-QHAUZ (] predicti.csv 2019/05/10 19:33 Microsoft Excel CS... 2KB
~ @ sample_dat= 3 = HDCL-UT(G) A1) some.csv 2019/05/1019:33  Microsoft Excel CS. 1KB
2 . 4 = CDF5(7 (H) Te temperature_data.csv 2019/05/10 19:33 Microsoft Excel CS... 10KB
. _
. READMI - jl: |\ HOCLUT (G temperature_data_NaN.csv 2019/05/10 1933 Microsoft Excel CS... 10 KB
. anscom . . = T 8] test.csv 2019/05/10 19:33 Microsoft Excel C5... 1KB
B californ JIRAZEIE— ° # AR — RMERR ApowersoftReco winequality-red.csv 2019/05/10 1933 Microsoft Excel CS... 84 KB
californi 2pp backup
it pandas .
A H A G drive
B californi import pandas as | o
f data = pd.read_cs e
mnist_test.csv e =
@ mnist i RENTERD N Desizp
B mnist_train_small.csv pr!ni Ega}a- i : o %g v N
print (data.iloc . : .
§ R AR 2 TALEN): somecse | N\ ~| [3rTeTe e ~]
print (data.iloc[: ol
print (data.iloc[:

|
print {data.column: 77’() b% for | In ranze(data.shape [01):
print (data.iloc[i])

L
§ EEAEEL TF va2 P
print (data.name) ]3=* 3 = pd.Geries([Jiro”,30,75,180], index=data.colunns)
print (data.height data = data.append(s, ignore_index=True}

# HER SIS A E5E L TaB

data[’BMI’] = [20, 30, 25]
print (data)
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from google.colab import files

files.upload()
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77 \ LY N ==1 I g F) DT HILFIZTFADHDEES
. CSV774} I/%D}ULJ a_abibj-d\(/\ pd.read_csv(“path%}éj 7»{)[,%”)
WindowsTIl, ¥¥&NY IR 5wa2D
| _NON TIHEWEENGEWNEE L H D,
CSVjT’”I/@EF'%'@ Name, age, weight, height

Bob, 40, 80, 175
\g,%aﬁmcswwm/\"x
*

T — & Taro, 35, 65, 170
data = pd.read_csv( some.csv")
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)
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PR ZERIATIEZ =NRNEDIC !
(1) import pandas as pd

(2) “some.csv” ZJ—REBUIAIAICEL
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In [399]: print(data.iloc[@])
name Bob

age 40
weight 80
height 175

Name: @, dtype: object

0 IFERIN RS

In [401]: print(data.iloc[:,2])
0 Bob

1 Taro

Name: name, dtype: object

In [400]: print(data.iloc[0:2])

name age weight
® Bob 40 80
1 Taro 35 65

height
175
170

70,11TEHZ#3

In [402]: print(data.iloc[:,@:B]

name age weight
@ Bob 40 80
1 Taro 35 65

S

zHd

1 0,1,2%
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In [406]: print(data.name) In [407]: print(data.height)
%) Bob ) 175
1 Taro 1 170
Name: name, dtype: object Name: height, dtype: int64

o IHHZIEEL CIFERTZRS
E55THO.K,

In [125]: print(data.iloc[@].weight) In [126]: print(data.weight[1])
88 B5
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In [406]: print(data.name) In [407]: print(data.height)
%) Bob ) 175
1 Taro 1 170
Name: name, dtype: object Name: height, dtype: int64

o IHHZIEEL CIFERTZRS
E55THO.K,

In [125]: print(data.iloc[@].weight) In [126]: print(data.weight[1])
88 B5
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o SEIIHTIVELTRD 2 DDFT —H%
{F>THET

Q%BEH, ’Jr'EEI|_.| *Lflﬁd)—wmﬁ' A
— temperature_data.csv
http://www.data.jma.go.jp/gmd/risk/obsdl/index.php

o REFRT Y (A—-RANSUFEILAR-
HHIARDB L2202 ADT A — D7 — ’5’)
— height_weight.csv
http://www.statsci.org/data/oz/ais.html
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e import pandas as pd
o — —ADERHIAH

In [66]: temper_data=pd.read_csv("./../DS_enshul/temperature_data.csv")

In [67]: HW_data=pd.read_csv("./../DS_enshul/height_weight.csv")

or

J71 IV DIGFRIER B EV G Z
FBELLD
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In [68]: temper_data In [78]: HW_data
Oout[68]: Out[70]:
date Naha Fukuoka Sapporo Unnamed: @ Sex Ht Wt
) 2016/1/1 18.1 7.3 “1.1 ) 1 195.9  78.9
1 2016/1/2 20.2 11.6 1.6 1 2 1 189.7 74.4
2 2016/1/3 21.2 11.6 0.3 2 3 1 177.8  69.1
3 2016/1/4 19.8 11.0 -1.7 3 4 1 185.0 74.9
4 2016/1/5 22.5 9.9 -3.9 4 5 1 184.6 64.6 —V —
5 2016/1/6 19.5 9.5 -2.3 5 6 1 174.0 63.7
6 2016/1/7 19.1 9.1 -2.7 6 7 1 186.2 75.2 L] T — — )
7 2016/1/8 16.6 7.5 -2.5 7 8 1 173.8 62.3
8 2016/1/9 17.1 7.9 -3.6 8 9 1 171.4 66.5
9 2016/1/10 18.3 7.9 -4.2 9 1 1 179.9 62.9 "/
10 2016/1/11 19.4 8.3 -6.7 10 1 1 193.4 96.3 e ()
11 2016/1/12 18.2 7.5 -6.4 1 12 1 188.7 75.5 7 I
12 2016/1/13 15.9 5.8 -4.2 12 13 1 169.1 63.0
13 2016/1/14 15.1 6.7 -3.7 13 14 1 177.9 8e.5
14 2016/1/15 16.6 5.8 -6.3 14 15 1 177.5 71.3
15 2016/1/16 17.5 7.5 -5.0 15 16 1 179.6 70.5
16 2016/1/17 19.5 7.1 -5.1 16 17 1 181.3 73.2
17 2016/1/18 17.6 6.7 -5.9 17 18 1 179.7 68.7
18 2016/1/19 15.3 2.3 -1.4 18 19 1 185.2 80.5 —_ AN ) — N
19 2016/1/20 15.0 2.7 -8.5 19 2 1 177.3  72.9 / | A \/ \ |
20 2016/1/21 17.3 2.8 -2.1 20 21 1 179.3 74.5 [ J 1 I “1 1 I
21 2016/1/22 16.8 5.8 -2.7 21 22 1 175.3 75.4 Y 4 s~
22 2016/1/23 14.7 3.5 -3.7 22 23 1 174.8  69.5
23 2016/1/24 9.2 -2.0 -5.7 23 24 1 183.3 66.4
24 2016/1/25 10.4 1.2 -6.7 24 25 1 184.7 79.7
25  2016/1/26 12.6 4.4 0.0 25 26 1 180.2 73.6
26 2016/1/27 15.7 6.6 -1.7 26 27 1 188.2 78.7
27 2016/1/28 20.2 8.3 -3.9 27 28 1 176.8  75.0
28 2016/1/28 22.2  11.8  -5.0 28 20 1 156.6 49.8 ] = [y
29 2016/1/30 18.6 10.8 -5.8 29 3 1 179.7 67.2 ® m}mj—_
336 2016/12/2 21.5 11.6 1.1 172 173 @ 178.5 71.8
337 2016/12/3 22.5 10.6 3.6 173 174 @ 171.3  69.1 Y RY
338 2016/12/4 24.1 11.3 7.1 174 175 @ 178.0 62.9 \
339 2016/12/5 23.3 12.4 6.3 175 176 @ 189.1 94.8 o E
340 2016/12/6 21.3 11.3 -2.1 176 177 @ 195.4 94.6 I N
341 2016/12/7 19.8 8.8 -5.0 177 178 @ 179.1 1@8.2
342 2016/12/8 20.7 10.6 -2.5 178 179 @ 180.1 97.9 »
343 2016/12/9 21.6 12.4 -0.3 179 180 @ 179.6 75.2 \i
344 2016/12/10 20.9 10.6 -2.6 180 181 @ 174.7 74.8 ®
345 2016/12/11 20.3 9.4 -4.6 181 182 @ 192.7 94.2 S
346 2016/12/12 21.9 1.0 -4.1 182 183 @ 179.3 76.1
347 2016/12/13 22.8 12.3 0.2 183 184 @ 197.5 94.7 —_ —\
348 2016/12/14 20,0 10.8 -2,0 184 185 @ 182.7 86.2 ) y (== — (
349 2016/12/15 17.4 7.9 -4.5 185 186 @ 190.5 79.6 —— J
350 2016/12/16 16.6 6.1 -5.3 186 187 @ 191.0 85.3 - —
351 2016/12/17 17.8 7.4 -3.6 187 188 @ 179.6 74.4 / “w
352 2016/12/18 20.7 8.9 1.0 188 189 @ 192.6 93.5 \ ~
353 2016/12/19 22.2 12.4 1.0 189 199 @ 194.1 87.6 [} /
354 2016/12/20 23.4 14.0 -0.1 190 191 @ 193.8 85.4 I
355 2016/12/21 23.6 16.1 2.7 191 192 @ 193.9 101.0
356 2016/12/22 22.7 15.8 0.3 192 193 @ 187.7 74.9 a —_
357 2016/12/23 18.9 9.7 -1.4 193 194 @ 185.3 87.3 \ E 1K I L, = =]
358 2016/12/24 18.5 9.1 -4.4 194 195 @ 191.5 90.0 ([ ] ==
359 2016/12/25 20.2 10.8 -2.3 195 196 @ 184.6 94.7 s~ 7~ /4 - 7 o
360 2016/12/26 22.3 13.3 1.3 196 197 @ 179.9 76.3
361 2016/12/27 18.5 10.7 -2.5 197 198 @ 183.9 93.2
362 2016/12/28 16.9 6.8 6.4 198 199 @ 183.5 80.0
363 2016/12/29 17.9 6.8 -3.6 199 200 @ 183.1 73.8
364 2016/12/30 17.9 6.6 -2.8 200 201 @ 178.4 71.1
365 2016/12/31 19.3 7.3 -2.6 201 202 @ 190.8 76.7

[366 rows x 4 columns] [202 rows x 4 columns] 19
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In [79]: temper_data.iloc[0]
Out[79]:

date 2016/1/1
Naha 18.1
Fukuoka 7.3
Sapporo -1.1

Name: @, dtype: object

0 U &R 2B

In [80]: temper_data.iloc[:,0]

In [82]: temper_data.iloc[:3]
Out[82]:

0
1
2

In

date Naha Fukuoka Sapporo
2016/1/1 18.1 7.3 -1.1
2016/1/2 20.2 11.6 1.6
2016/1/3 21.2 11.6 0.3

10,1,217B%H3

[84]: temper_data.iloc[:,1:3]

11,25B% 4%

20
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Li’:j{lE In [94]: temper_data.mean()
OQut[94]:
Naha 24.131421
Fukuoka 18.091803
Sapporo 9.295902

dtype: float64

jsfrjISZ In [95]: temper_data.var()

® H Out[95]: TIER
Naha 24.559640
Fukuoka  62.146179

Sapporo 95.555079
dtype: float64 15

A
v

oG < =

o IRERE
In [96]: temper_data.std()
Out[96]:
Naha 4.955768
Fukuoka 7.883285
Sapporo 9.775228
dtype: float64

21



FEDHTHDLDHTEEY
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temper_data.describe()

Naha Fukuoka Sapporo
count 366.000000 366.000000 366.000000
mean 24.131421 18.091803 9.295902

std 4.955768 7.883285 9.775228
min 0.200000 -2.000000 -6.800000
25% 20.225000 11.025000 0.300000
50% 25.050000 18.500000 8.650000
715% 28.600000 24.650000 18.050000

max 30.800000 31.400000 27.100000

F—AD25%(F~LLTF
F—AMD50%I(F~LLTF
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In [97]: temper_data.plot()
Out[97]: <matplotlib.axes._subplots.AxesSubplot at 0x120dc2050>
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In [98]: temper_data.index = pd.to_datetime(temper_data.date)

In [99]: temper_data.plot()
Out[99]: <matplotlib.axes._subplots.AxesSubplot at 0x120d95910>

35 -
30 - Iy - . p——
5 | lf ALK ~ indexz date (CZZEE
o1 - “ le""‘ | ‘lﬂ I %
15 W’\j ’ 4‘ Ul L'J M|| ‘ ’
10 - M ]
‘ J' "\ ]
E ‘ A
0- f' ‘Ir ” — Naha J»' lw Al
r.‘ |f \l' — Fukuoka V w|w
—a- "" v l ——  Sapporo o
Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
2016
date
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In [99]:
Out[99]:

35 -

30 -

i | L‘ "
10 - M }‘L (i
5 - \ l] 'ﬂ’“ |

0-| p l\ ||, " —
Y -
noE f
|' "‘ '»“‘ ll l‘,' -
Jan Feb Mar Apr May Jun
2016

e
20 - 0 | L
15 A llt"\' .

temper_data.plot()
<matplotlib.axes._subplots.AxesSubplot at 0x120d95910>

vy
Sapp

i

date

w' :

Copy Image
Save Image As...

Inspect current object
Clear line or block
Clear console

Quit
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In [109]: temper_data.plot(y='Naha',kind="hist")
Out[109]: <matplotlib.axes._subplots.AxesSubplot at 0x1281584d0>

a0 -

oy ™= Naha

70

Frequency
5 8 8 & 8 8

=]

10 15 20 25

30
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In [115]: temper_data.plot.hist(bins=50, alpha=0.5)
Out[115]: <matplotlib.axes._subplots.AxesSubplot at 0x128cdecdd>

40
o Naha
= v Fukuoka
30 - Sapporo
g o data.plot(kind="hist’)
s 20 data.plot.hist()
£ 15 (X[FE C
. | || | ‘l
5
o. I _..|.|| IIIIIlIIII“ ‘l “ ”
-10 -5
bins(3ENDZEL, alpha (IFEHE
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MatplotlibZz{Eo7zr] R4t

e import matplotlib.pyplot as plt

In [12]: a = [@.5,0.7,1,0.8,0.6,0.4,8.3,0.1] UZ R L (2
.1 plt.plot(a) 1)
Out[12]: [<matplotlib.lines.Line2D at @xldsbebcobas>]  NUMpydarrayz:

Z 7]
10 -
pandas4t CE
0.8 - EXFEFI,
csvr—A [FERBI(C
. pandas @ plotTE&+%
TIN. KDEER
oJtR{t (BB BIRE)
04 - = UIEWESE (CIHEF]
(B(ZEHEBM)
0.2 -
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Numpy array AOZ 3R

In [34] Naha = temper_data.values[:,1] —
..t Fukuoka = temper_data.values[:,2] Pandas @ values Eﬂfﬁjt
.: Sapporo = temper_data.values[:,3] numpy D array?.!tb'c
: HEHTEDS

«v+: plt.plot(Naha)
..+ plt.plot(Fukuoka)
: plt.plot(Sapporo)
0ut[34] [<matplotlib.lines.Line2D at @x1d8bebi4d3e>]

e
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00 150 200 250 300 350 .

b 8 B ¥
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In [111]: HW_data.plot(x='Ht', y='Wt', kind='scatter')

Out[111]: <matplotlib.axes.

140 -~
120 - =
100 - e . =
B 2. o ‘::..‘ -
oo o™ty
= & O VRS
= ma..;x’u.l
n.l.:- L) ﬂ.
60 5 88t
- '.- - '- * :
40 - [
20 - : ! : . ; -
140 150 160 170 180 190 200 210 220
Ht

_subplots.AxesSubplot at 0x12855f310>
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In [122]: HW_data.plot(kind='scatter',x="Ht',y='Wt',c=HW_data.Sex)
Out[122]: <matplotlib.axes._subplots.AxesSubplot at 0x12be06d10>
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import pandas as pd

wine_data = pd.read_csv("./winequality-red.csv", sep=";")
import seaborn as sns

sns.pairplot(wine_data)
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RIBIB(CDWT

ecsv DH(CZERH (XRig) hesde,
NaN (Not a Number) ELWSEDHAS

o B N I7 AN EEGTHAATH THED

In [92]: temper_data2=pd.read_csv("./../DS_enshul/temperature_data_NaN.csv")

In [93]: temper_data2
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RI{B(CDWT

ecsv DH(CZERH (XRig) hesde,
NaN (Not a Number) ELWSEDHAS

o RIBEOHDT—4 (17) ZEWERC

In [130]: temper_data2.dropna(0)

Out[130]:

date Naha Fukuoka Sapporo
0 2016/1/1 18.1 7.3 -1.1
1 2016/1/2 20.2 11.6 1.6
2 2016/1/3 21.2 11.6 0.3
3 2016/1/4 19.8 11.0 -1.7
4 2016/1/5 22.5 9.9 -3.9
5 2016/1/6 19.5 9.5 -2.3
6 2016/1/7 19.1 9.1 -2.7
7 2016/1/8 16.6 7.5 -2.5
8 2016/1/9 17.1 7.9 -3.6
9 2016/1/10 18.3 7.9 -4.2
10 2016/1/11 19.4 8.3 -6.7
11 2016/1/12 18.2 7.5 -6.4
12 2016/1/13 15.9 5.8 -4.2
13 2016/1/14 15.1 6.7 -3.7
15 2016/1/16 17.5 7.5 -5.0
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o T —ADZL(IEXF DR, DFEIRINL |
offll 1 x=[62, 173]
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NI NVE python

enp.array Z{E3t B4 REEHE
e ¥9 [import numpy as npl%=E1T

o {5l :
a=np.array([0,1,2])
print(a)
[0 1 2]
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a=np.array([
b=np.array( [
print(a+b)

N =
L I |
NN
L]
w
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a=np.array([1,2,3,
b=np.array([2,2,3,
print(a-b)
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X = (3),y= (?)@t% x+y,x—yld?

3 6
X = (5),)': (1)0)8:'6‘E x+y,x—yld?
2 2



a=np.array([1,2,3,4,5]
b=np.array([2,2,3,3,4]
c=np.array([5,4,2,3,3]

d=np.array([a,b,c])

In [474]: d
Out[474]:
array([[1, 2, 3, 4, 5]
[2, 2, 3, 3, 4}
3

[5. 4, 2, 3, 3]11)
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)
)
)
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— temperature_data.csv

o ZEPTHD365H D ORUEZ—DDATNL (numpy
array®l) tUTEREL. NNV (FBEE—1ER. &R —
FLIR. ALIR—HBER)DFNEEZENENKDLDS (BIEE
DINEF(XRANDRLY)

o FEEONINUEIDIEBEGKRS TH LD,

o RDIEEDNT NV ZITNERT STV AN S AT AL

LCHELD,

e %) matplotlib.pyplot ZFIFHT 3




